TPUroHOMeTpU4eCkux BbIpaXeHUU

———

TTpeobpasoesaHue

Anre6bpa - 10 knacc

Yactb 3

Yuuteno matemaTtukum

MOY "OneHosckaa wkona Ne2
BonHoeaxckoro paiioHa”
TTpoxopeHko WpuHa WeaHoBHa

eaie




®opmySibI NpuBeseHUs

Yt Tta 3—ﬂia 2r o

2 2
sin COS O siha —cosQ +sin o
CcCOS N sin o —COoS O +sin o cosa

tg N ctga tiga i ctga ttoa
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Boruucaums : cos(% —30°)

cos(% —30°) =sin30° = 1
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Boiyucaumeo : tg(180° — %)
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1g(180°——) =—tg —= —1

e




Boruucaumo : sin(2m + 45°)
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Sin(zﬂ' + 450) = s1n 45° = 7
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Boruucaumeo : ctg(270° + 60°)

ctg(270°+60°) = —1g60° = —/3

e




HomalHee 3apaaHue

=

- § 31 BblyunTb, Ne525,526

XKenatw yaauu!!!
Y




